Vol.20 No.1

20 1
20011 Journal of Wuxi University of Light Industry Jan. 2001

1009 - 038X 2001 01 — 0095 - 03

214036

F224 A

The Ratio Estimator with Known Numerator

ZHANG He-guan
School of Business Wuxi University of Light Industry Wuxi 214064 China

Abstract In this paper the bias of the ratio estimator and the estimate of mean square errors of this estimator

with known numerator have been compared and discussed.
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Tab.1 Sampled data

/ / /
m2 m2 m2
53.5 5 28.9 3 35.2 4
31.4 3 28.9 2 31.4 3
37.5 4 37.5 3 48.4 4
28.9 3 35.2 3 43.5 4
31.4 4 43.5 3 53.5 3
59.1 2 35.2 2 22.6 2
59.1 3 43.5 5 35.2 3
22.6 3 53.5 2 35.2 2
59.1 5 22.6 2 41.9 3
31.4 3 48.4 3 43.5 3

N=2159 n=30 Y=41.9. i
X; 1
% =3.13 5% =0.81
2
A 41.9
R=373=134
8
5 13.4° 1 1
mse R = 313 30 ~ 2159 x 0.81 = 0.49
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Yi 1
Sy 3939
Ry=2 =2V =126
e Ry = 4 ox Lol 168.3120.56
mse 2 =3 9327 307 2159 L=
6

1996.111 ~ 117.
1994.95 ~ 132.



